

Converting Celsius and Fahrenheit (G)

Estimate or convert the temperatures.

$-68\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$79\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$44\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-6\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-40\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-69\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$14\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$21\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$52\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-40\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$32\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-65\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-7\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$24\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$81\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-13\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$19\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$18\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$70\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$30\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$71\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$43\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$64\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$91\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-11\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-45\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$21\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-91\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$0\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$66\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$